BB B BB

V4

PREVAILING TORQUE TYPE STEEL
ZINC PLATED HEXAGON NUT M4 (x2)

STEEL ZINC PLATED STUD M4x25 (x2)

6 SCREWS M3x5 TAPTITE POSI PAN ZINC PLATED INCLUDED
WITH ENCLOSURE ASSY

SET OF 4 CAGE NUTS M6 AND 4 CROSS RECESSED PAN HEAD
SCREWS DIN7985 H M6x12 - STEEL ZINC PLATED INCLUDED
IN PLASTIC BAG

COUPLER FIXINGS WITH 48 SELFTAPPING SCREWS, SURPLUS

PACKED INTO PLASTIC BAG

POZI PAN HEAD NR2 x 3/8" - DIN 7981 TYPE B (5T2,2 x 6,5MM - DIN 7981 F-H)
PART NUMBER 4-1201271-7

CABLE MANAGEMENT, CABLE GLANDS AND HOLE PLUGS
INCLUDED IN PLASTIC BAG
(SHOWN ON DRAWING IN SUGGESTED POSITION)

LASER LOGO AND LASER TEXT LABEL INCLUDED IN PLASTIC BAG

7
7

X

AL

\

s

VA A ACAY B\
aAlan\n\u\u\u\u\w
WEWE W WY WE WE WE WY

[\

)

REVISIONS

REV

DESCRIPTION

DATE

DWN

APVD

AJ | ECN 8000017777—REBRANDING 11-28-16 | SC | YV
NOTE
- Pigtails included not installed
- Instruction Sheet 114NC-0018-3-07/05 included
- - 48 - - 6536561-2 PIGTAIL 14
1 1 1 1 1 - M25 HOLE PLUG 13
1 1 1 1 1 - M20 HOLE PLUG 12
2 2 2 2 2 - SWELL LATCH 11
- 12 - - 24 - BLANKING PLUG SC-STYLE 10
8 8 8 8 8 - OFN SADDLE 9
2 2 2 2 2 - CABLE MNGM. SPIDER 8
1 1 1 1 1 - CABLE GLAND M25 7
1 1 1 1 1 - CABLE GLAND M20 6
1 1 1 1 1 - R.H. BRACKET 5
1 1 1 1 1 - L.H. BRACKET 4
1 1 1 1 1 - COVER 3
1 1 1 1 1 - TRAY 2
24 12 24 - - 2-5502776-6
- - - 2 0 5504640-2 COUPLING RECEPTACLE KIT 1
4-2 | 2-2 | 41 | 4-4 | 04
PART NUMBER DESCRIPTION ITEM
QUANTITY
CUSTOMER DRAWING PartN~ : 1206343
DRAWING STATUS REVISION DESCRIPTION:
RELEASED |brawingsy DRAWING REVISION BY VOLUME OF MOULDED PART OR AREA OF
NAME: H. BLEUS NAME: H. Bleus UNFOLDED SHEETMETAL PART. mm?/ mm?
DATE: 21-FEB-03 DATE: 18-0CT-12
SCALE: DRAWING FORMAT DRAWING TITLE
1.000 Al
sosweo. | @@omac | F O, 1U PANEL 24 SC DUPLEX MM
a@ DRAWING_SHEET_REVISION NUMBER REVISION
D_0010580_01_AK AK

COMMSCOPE, INC.

THIS INFORMATION IS CONFIDENTIAL AND PROPRIETARY TO COMMSCOPE, INC.
AND ITS WORLDWIDE SUBSIDIARIES AND AFFILIATES .

IT MAY NOT BE DISCLOSED TO ANYONE, OTHER THAN TE PERSONNEL, WITHOUT
AUTHORIZATION FROM COMMSCOPE.




